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Ajmal National Talent Search Examination, 2008
Class : V

Time/a]Ì̂  : 2 hours (H³Oôç) Full Marks/ ]ÇPö X¶�ö» : (25+25+25+25)=100

INSTRUCTIONS / ×XãVÛ̀ ç¾_Ý f
1. Attempt All Questions. / YÒãTöîEõäOôç YÒ̀ Â» =wø» Eõ»ç*
2. There are four options to each question. Choose the correct option by putting any one of a, b, c or d,

in the box / YÒ×TöäOôç YÒ̀ Â» $Jôç×»Oôç ×[ýEõ� =wø» ×VÌ̂ ç %çä$K÷* £�ù =wø»äOôç [ýç×$K÷ =×_Ì̂ ç+ EõçbTö UEõç [ýçEõ$JôTö a, b, c [ýç d ×_×F[ýç*

General Knowledge / açWýç»S pûçX

1. The rulers of which princely state had the title ‘‘NIZAM’’?
$åEõçX »çLî» ̀ çaXEõwïøç» =YçWýÝ "×XLç]' %ç×$K÷_ ?
a) Hyderabad/$c÷çÌ̂ V»ç[ýçV b) Ahmedabad/$%çc÷ã]Vç[ýçV
c) Allahabad/$A_çc÷ç[ýçV d) Moradabad/$å]ç»çVç[ýçV

2. Numismatics is related to–
×X=×]JËôä]×OôEõ$JËô ×Eõc÷» _GTö L×QÍöTö ?
a) stamps/$QöçEõ×OôEõOô b) coins/$]ÇVÐç c) birds/$YlùÝ d) insects/$Y»Ó¾ç

3. Which festival was started in 1893 by Bal Gangadhar Tilak?
1893 $JôXTö [ýç_ G�çWý» ×Tö_ãEõ %ç»�ö Eõ»ç =da¾äOôç ×Eõ ?
d) Car Festival/»U ̂ çyç b) Ganapati Festival/$GSY×Tö =da¾
c) Holi Festival/åc÷ç_Ý =da¾ d) Baisakhi Festival/é[ý̀ çFÝ =da¾

4. ‘‘Ambubachi’’ Mela is held at–
$"%¶�öÇ[ýç$JôÝ' å]_ç Eõ'Tö =VË̂ ç×YTö c÷Ì̂  ?
a) Hajo/$c÷çãLçTö b) Umananda/$=]çX³VTö c) Kamakhya/$Eõç]çFîçTö d) Jaidoul/$LÌ̂ ãVì_Tö

5. Which one of the following is known as the Continent of Birds’?
$åEõçX ]c÷çãV`Eõ YlùÝ» ]c÷çãV` [ýÇ×_ åEõç¾ç c÷Ì̂  ?
a) Europe/$+=ã»çY b) Asia/$A×$K÷Ì̂ ç c) Africa/$%ç×ZÐõEõç d) Australia/$%ärÑô×_Ì̂ ç

6. March 20 is observed as–
$20 ]ç$JôÛ ×Eõ ×V[ýa ×c÷$JôçãY Yç_X Eõ»ç c÷Ì̂  ?
a) World Mothers’ Day/$×[ý �̀ ]çTÊö×V¾a b) World Story-Telling Day/×[ý̀ � açWýÇ åEõç¾ç ×V¾a
d) World AIDS Day/×[ý �̀ A+Qö$K÷ ×V[ýa d) World Literacy Day/$×[ý �̀ açlù»Töç ×V[ýa

7. The ‘Pentagon’ is situated in–
åY°OôçGS Eõ'Tö %¾×Ø�öTö ?
a) Moscow/]ã�õç b) London/_�øX c) New York/×X=Ì̂ Eïõ d) Washington/¾ç×̀ �eOôX

8. There are _____ squares on the chess board?
V[ýç» [ý'QïöTö ×Eõ]çXOôç [ýGïãlùy %çä$K÷ ?
a) 49 b) 64 c) 36 d) 56

1
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9. Complete the following :
Tö_Tö ×VÌ̂ ç Fç×_ Pöç+ YÉSï Eõ»ç----

?

a) b) c) d)

10. Where is the Vivekanandra Rock Memorial Situated?
×[ýã[ýEõçX³V »'Eõ å]ã]ç×»Ì̂ ç_ Eõ'Tö %çä$K÷ ?
a) Mumbai/$]Ç¶�öç+Tö b) Goa/$åGç¾çTö c) Kanyakumari/$EõXîçEÇõ]ç»ÝTö
d) Bangalore/$[ýç�çã_ç»Tö

11. ‘Sarusojai’ is a famous _______ in Assam–
$%a]» a»ÓaLç+ ×Eõc÷» [ýçã[ý ×[ýFîçTö ?
a) Garden/$[ýç×G$Jôç b) Theatre/$×UãÌ̂ Oôç» c) Stadium/$ærô×QöÌ̂ ç] d) Airport/$×[ý]çX[ý³V»

12. The ‘Land of Five Rivers’ is the name given to–
$Y�ûXVÝ» \Éö×] [ýÇ×_ EõçEõ åEõç¾ç c÷Ì̂  ?
a) Assam/$%a] b) Kerala/$åEõ»ç_ç c) Punjab/$Ygçtç[ý d) Tamilnadu/$Töç×]_XçQÇö

13. What is the highest rank in Navy?
$åXì [ýç×c÷XÝ» aã[ýïç¬Jô YV¾Ý ×Eõ ?
a) Captain/$åEõä´Oô+X b) Rear Admiral/$×»Ì̂ ç» AQËö×]ã»_
c) General/$åLãXã»_ d) Admiral/$AQËö×]ã»_

14. Film ‘Chak De India’ is based on the game of–
"$$JôEõ åV +×�øÌ̂ ç' ×$JôãX]çFX ×Eõ åF_» CY»Tö ×X×]ïTö ?
a) Football/$ZÇõOô[ý_ b) Volley-ball/$\ö_Ý[ý_ c) Kabaddi/$Eõç[ýçVÝ d) Hockey/$c÷'EõÝ

15. ‘Emergency Power’ in India is vested with:
$\öç»Tö[ýbïTö Eõç» c÷çTöTö L»Ó»ÝEõç×_X lù]Töç ×VÌ̂ ç éc÷ä$K÷ ?
a) The Prime Minister/$YÒWýçX ]Ü�öÝ b) The Chief Minister/$]ÇFî]Ü�öÝ
c) The Chief Justice of India/$]ÇFî ×[ý$Jôç»Y×Tö d) The President/$»çrÑôY×Tö

16. Who founded ‘Azad Hind Fauj’?
"%çLçV ×c÷³V åZõìL' åEõçãX GPöX Eõ×»×$K÷_ ?
a) Khan Abdul Gaffar Khan/FçX %ç�Ç_ GZõç» FçX b) Subhash Chandra Bose/aÇ\öçb $Jô³VÐ å[ýça
c) Lala Lajpat Ray/_ç_ç _çLYTö »çÌ̂ d) Anie Besant/A×X å[ý$JôçÜ�ö

17. Bismillah Khan is famous as a–
$×[ý$K÷×[ý{çc÷ FçX ×Eõc÷» [ýçã[ý ×[ýFîçTö ?
a) Flute player/$[ýçc÷ß[ýçVEõ b) Sarod player/$aã»çV [ýçVEõ
c) Shehnaiplayer/$å �̀c÷Xç+ [ýçVEõ d) Sarangi player/$açã»�Ý [ýçVEõ

18. Which of the following has the maximum Protein contents–
Tö_» åEõçX ×[ýWýTö a[ýïç×WýEõ YÒ'×OôX åYç¾ç ̂ çÌ̂  ?
a) Meat/]çea b) Paneer/YXÝ» c) Butter/]çFX d) Rajmah/»çL]çc÷
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19. ‘Bordoloi Trophy’ is associated with–
$[ý»Vê_ ®Ïô×Zõ ×Eõ åF_» _GTö L×QÍöTö ?
a) Football/$ZÇõOô[ý_ b) Cricket/$×yÔãEõOô c) Swimming/$agçãTöç» d) Tennis/$æOô×X$K÷

20. What type of cloth is used for the National Flag of India ?
\öç»Tö» LçTöÝÌ̂  YTöçEõçTö ×Eõ EõçãYç» [ýî¾c÷ç» Eõ»ç c÷Ì̂  ?
a) Silk/å»$Jô] EõçãYç» b) Khadi/FçVÝ EõçãYç» c) Cotton/EõYçc÷Ý EõçãYç» d) Tereline/æOôã»×_X EõçãYç»

21. Bhakra-Nagal multi-purpose project is constructed on the river _______.
\öçyÔç-Xç�_ [ý§]ÇFÝ YÒEõ� åEõçX XVÝ» CY»Tö aLç éc÷ä$K÷ ?
a) Sutlej/$JÇôOôã_L b) Damodar/Vçã]çV» c) Mahanadi/]c÷çXVÝ d) Tungabhadra/TÇö�\öVÐç

22. Equator is measured as ______ lalitude.
$×[ý£[ý å»FçEõ ........................... %lùã»FçTö åLçFç c÷Ì̂  ?
a) 00 b) 23½0 c) 660 d) 900

23. Northeast Frontier Agency (NEFA) is now known as:
$=wø» YÇ[ý aÝ]çÜ�ö %�û_Eõ A×TöÌ̂ ç ×Eõ Xçã]ã» LXç^çÌ̂  ?
a) Arunachal Pradesh/$%»ÓSç$Jô_ YÒãV` b) Sikkim/$×$Jô×Eõ]
c) Meghalaya/$å]Hç_Ì̂ d) Tripura/$×ÅyYÇ»ç

24. C is the grandson of A, C’s father is B. But B is not the son of A, then what is B in relation to A ?
C c÷'_ A » Xç×Tö _'»ç* C » åV=TöçEõ B* B ×EõÜ�Çö A» YÇy Xc÷Ì̂ * åTöãÜ�ö B %ç»Ó  A » a�Eïõ ×Eõ ?
a) Brother/$\öç+ b) Brother-in-law/$FÇ_`ç×_
c) Son-in-law/$åLñç¾ç+ d) Grandson/$Xç×Tö

25. The president of _______ was the chief guest in the Republic Day, 2008.
$2008 » YÒLçTöÜ�ö ×V¾aTö åEõçX åV`» »çrÑôY×Tö G»çEõÝ ]ÇFî %×Tö×U %ç×$K÷_ ?
a) England/$+eã_�ø b) France/$ZÐõç�û c) Russia/$»ç×$K÷Ì̂ ç d) Sweden/$$$JÇô+ãQöX

English / +e»çLÝ

Choose the right alternative from -  (a),  (b),  (c), (d)

26. Rearrange letters 'LOPDATE' to get the young one of a frog.
a) Tapdole b) Tadpole c) Tadlope d) Talpode

27. Give the past tense form of the verb 'Spread'.
a) Spread b) Spreaded c) Spreed d) Sprode

28. AN ANT is — INSECT
a) a b) an c) the d) intelligent

29. Give the plural form of the word 'SHEEP'
a) sheep b) sheeps c) sheepes d) sheepen

30. Mahatma Gandhi was a ____________ man.
a) big b) large c) great d) high

3
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31. Someone has broken the window-pane. (Here 'SOMEONE' is ..........................)
a) Noun b) Pronoun c) Adverb d) Adjective

32. Which of the following words can be used in a singular sense.
a) Clothes b) Cuckoos c) Mathematics d) Babies

33. The opposite gender of 'RAM' is ..........................
a) Sita b) Mrs. Ram c) ewe d) Miss Ram

34. Prodip played ________ the flute.
a) with b) to c) on d) None of these

35. Give the past participle form of the verb 'Knit'
a) Knit b) Knitted c) Knitten d) None of these

Fill in the blanks with correct words.

36. Today is sunday ; _______________ ?
a) is it b) doesn't it c) isn't it d) is today

37. Switzerland is ___________ European country.
a) a b) an c) the d) one of

38. Mumps ____________ a serious illness for grown-up people.
a) are b) is c) was d) ware

39. A __________ of fish.
a) group b) file c) shoal d) heap

40. Write your answer __________ ink.
a) in b) with c) at d) to

41. ‘‘Blackboard’’ is Compound Noun consisting of __________.
a) Noun + adjective b) Adjective + Noun c) Verb + Noun d) Gerund + Noun

42. Which of the following words is not an adverb ?
a) Carefully b) Successfully c) Jolly d) wisely

43. Whichone of the following words is an adjective as well as a Noun ?
a) Native b) Active c) Collective d) Selective

44. ‘say’ is to said, ‘stay’ is to ______________.
a) staid b) stayed c) stayid d) None of these

45. The young one of an owl is _____________.
a) cygnet b) owllet c) owlet d) fawn

46. As busy as a _____________.
a) butterfly b) bee c) bug d) bat

4
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47. It has been a week since it ___________.
a) had rained b) has been raining c)rained d) was raining

48. I was born on Thursday _______________ 6 March.
a) in b) at c) by d) on

49. The room looks ________________
a) decent b) descent c) discent e) desent

50. Which of the these word can not be used in singular form
a) ladies b) potatoes c) spctacles d) sheep

General Mathematics / açWýç»S G×STö

51. Which of the following numbers has maximum number of divisors ?
Tö_» åEõçXäOôç aeFîç» %çOôç+TöêEõ å[ý×$K÷ aeFîEõ \öçLEõ %çä$K÷ ?
a) 99 b) 101 c) 176 d) 182

52. Express 72 km.ph. in m/sec.
72 ×Eõf×]f/H³OôçEõ ×]Oôç»/ä$K÷ãEõ�øTö YÒEõç` Eõ»ç--
a) 10m/sec. b) 15m/sec. c) 20m/sec. d) 25m/sec.

53. The product of two numbers is 9999. If one of the numbers is 909. Find the other number.
VÇOôç aeFîç» YÉ»SZõ_ 9999, AOôç aeFîç 909 c÷'ã_ %çXäOôç aeFîç c÷'_---
a) 11 b) 121 c) 101 d) 121

54.
8

5
 of a number is 5 less than 50. The number is–

AOôç aeFîç» 
8

5
 %e` 50 TöêEõ 5 a»Ó* aeFîçäOôç c÷'_---

a) 27 b) 40 c) 45 d) 72

55. The value of MCDLVI + XLIV is–
MCDLVI + XLIV » ]çX c÷'_----
a) 1456 b) 1458 c) 1500 d) 1502

56. MALAYALAM is a palindromic word. Which one of the following is a palindromic number?
MALAYALAM AOôç Y×_XQÎö×]Eõ ̀ �* Tö_» åEõçXäOôç AOôç Y×_XQÎö×]Eõ aeFîç ?
a) 246424 b) 4567654 c) 19626991
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

57. Which one of the following shows the best percentage?
Tö_» åEõçXäOôçã¾ %çOôç+TöêEõ \öç_ ̀ Töçe` åVFÇ¾çÌ̂  ?

a)
540

384
b)

500

425
c)

700

570
d)

660

480

5
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58.
28

1

14

1

7

1

4

1

2

1
1 +++++  equals to–

28

1

14

1

7

1

4

1

2

1
1 +++++ » ]çX c÷'_----

a) 2 b) 2.5 c) 3 d) 3.5

59. The sum of any four consecutive numbers is equal to–
×^ãEõçãXç $Jôç×»Oôç yÔ×]Eõ aeFîç» a]×rô c÷'_----

a)
2

3
 times the sum of the two middle numbers./]çL» aeFîç VÇOôç» a]×rô»

2

3
mS

b) Twice the sum of the two middle numbers./]çL» aeFîç VÇOôç» a]×rô» VÇmS
c) Thrice the sum of the two middle numbers./]çL» aeFîç VÇOôç» a]×rô» ×Tö×XmS
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

60. The standard unit of volume is–
%çÌ̂ TöX» YÒç]ç×SEõ AEõEõ c÷'_-----
a) 2m b) 3ft c) 3cm d) 3m

61. A room is 8m. long and 5m. wide. The cost of flooring the room at Re 0.75 per square metre is–
AOôç åEõçPöç_Ý 8m. VÝH_ %ç»Ó 5m. [ýc÷_* YÒ×Tö [ýGï×]Oôç»Tö 0.75 OôEõç F»$Jô c÷'ã_ åEõçPöç_ÝäOôç» ]×LÌ̂ ç [ýXçCãTö ]ÇPö F»$K÷ c÷'[ý----
a) Rs. 40 b) Rs. 75 c) Rs. 30
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

62. The value of 




 ÷×÷

3

2

4

3

3

4

8

9
1248 ofof  is–






 ÷×÷

3

2

4

3

3

4

8

9
1248   »  »  » ]çX c÷'_---

a)
3

1
1 b) 3 c)

3

1
5 d) 12

63. If 40%  of 40% of a number is 40, then the number is–
AOôç aeFîç» 40% » 40% » ]çX 40 c÷'ã_, aeFîçäOôç c÷'_-----
a) 100 b) 250 c) 400 d) 1000

64. The sum of three consecutive odd numbers is always divisible by–
×Tö×XOôç yÔ×]Eõ % Ç̂G½ aeFîç» a]×rôäOôç aVçÌ̂  ..................... å» ×[ý\öçLî c÷'[ý
a) 2 b) 3 c) 5 and/%ç»Ó 2 d) 3 and/%ç»Ó 6

65. 4.036 divided by 0.04 gives–
4.036 Eõ 0.04 å» c÷»S Eõ×»ã_ \öçGZõ_ c÷'[ý----
a) 1.009 b) 10.09 c) 100.9
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

6
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66. The least number from which 3 is subtracted to be divisible exactly by 21, 25, 27 and 35 is–
%çOôç+TöêEõ a»Ó aeFîçäOôç ̂ ç» Y»ç 3 ×[ýãÌ̂ çG Eõ×»ã_ 21, 25, 27 %ç»Ó 35 å» a�ÉSï»ÖãY ×[ý\öçLî c÷Ì̂ -----
a) 4278 b) 4728 c) 4872 d) 4827

67. If a and b are two numbers such that ‘b’ is a multiple of ‘a’, then the L.C.M. of a and b is–
a %ç»Ó b VÇOôç AãX aeFîç ^çãTö ‘b’,  ‘a’ » m×STöEõ, åTöãÜ�ö  a %ç»Ó b » _. aç. m c÷'[ý---
a) ab b) a + b c) a d) b

68. The part of a book which a student has to read after having read 
3

1
 of the book in one day and 

2

1
 of the book in the next

day is–

ALX $K÷çy+ AFX ×EõTöçY» 
3

1
 %e` A×VXTö %ç»Ó 

2

1
 %e` Töç» ×Y$K÷ ×VXç Y×RÍôã_, ×Eõ]çX %e` Y×RÍô[ýê_ [ýçEõÝ %çä$K÷ ?

a)
6

1
b)

5

2
c)

5

3
d)

3

1

69. Cost price of a dozen pencils is Rs. 5. If they are sold at 8% profit, then the selling price of each pencil is–
AQöLX åY×�û_» ×EõXç Vç] 5 OôEõç* 8% _ç\öTö ×[ýyÔÝ Eõ×»ã_ YÒ×TöäOôç åY×�û_» ×[ýyÔÝ Vç] c÷'[ý-----
a) 42 paise b) 45 paise c) 0.45 paise
d) None of these/+Ì̂ çã» AOôçC Xc÷Ì̂

70. The average of 5,  0,  6,  
4

3
8  and 

4

1
 is–

5,  0,  6,  
4

3
8  %ç»Ó 

4

1
 » GQÍö c÷'_

a) 1 b) 2 c) 3 d) 4

71. Circumference of a circle is equal to __________ times its radius.

a) ð b) ðãr c) 2ðr d) 2ð

72. If the cost of 2 grosses of pens is Rs. 432, the cost of 48 pens is–
2 GÐÓ$K÷ Eõ_]» Vç] 432 OôEõç c÷'ã_ 48 Oôç Eõ_]» Vç] c÷'[ý----
a) Rs. 36 b) Rs. 72 c) Rs. 864 d) Rs. 144

73. A farmer borrowed Rs. 2500 for 2 years at the rate Re. 1 per hundred per month at simple interest. The amount he
should pay to clear his debt is–
ALX åF×TöÌ̂ ãEõ 2500 OôEõç 2 [ý$K÷»» Eõç»ãS A]çc÷Tö AOôEõç c÷ç»Tö a»_ aÇTöTö Wýç» Eõ×»ã_, åTöCg @S Y×»ã`çWý Eõ×»[ýê_ ×V[ý_GÝÌ̂ ç WýX c÷'[ý---
a) Rs. 3000 b) Rs. 2550 c) Rs. 3100 d) Rs. 3050
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74. Area of the shaded figure is–
$Kg÷ç Y»ç ×$Jôy» ålùyZõ_ c÷'[ý-----

5 m .

1 0 m .

1 3 m .

6 m .

a) 48 sq. m. b) 98 sq. m. c) 128 sq. m. d) 144 sq. m.

75. Which of the following three line segments may represent a triangle?
Tö_» åEõçX ×Tö×XOôç å»Fç F�ø+ AOôç ×Åy\ÇöL YÒV ï̀X Eõã» ?
a) 6cm., 6cm., 13cm. b) 16cm., 7cm., 8cm. c) 4cm., 10cm., 8cm. d) 3cm., 4cm., 8cm.

General Science / açWýç»S ×[ýpûçX

76. Which of the following is a drycleaner ?
Tö_» åEõçXäOôç £�õ Y×»�õç»Eõ ?ý
a) Chlorine/zõ'×»S b) Paraffin/åY»ç×ZõX c) Petrol/åY®Ïô'_ d) None of these/AOôçC Xc÷Ì̂

77. No sound can be heard on the moon as there is no
$Jô³VÐTö åEõçãXç ̀ � £Xç Xç^çÌ̂  Eõç»S TöçTö Xç+----ý
a) Water/YçXÝ b) Atmosphere/[ýçÌ̂ Ç]�ø_ c) Light/åYçc÷» d) Gravity/]WýîçEõbïS

78. Deficiency of Iodine in our body causes
%ç]ç» ̀ »Ý»Tö %çÌ̂ ×QöX» %\öç¾Tö åc÷ç¾ç å[ý]ç» c÷'_---
a) Rickets/YÌ̂ ç_Gç b) Beri-Beri/å[ý×»ã[ý×» c) Goitre/Gg»_ d) Anaemia/»Nþc÷ÝXTöç

79. The water stored in an overhead tank has
CY»Tö AOôç æOôáøTö L]ç Eõ×» »Fç YçXÝ» ×Eõ ̀ ×Nþ %çä$K÷ ?
a) Kinetic energy/G×Tö̀ ×Nþ b) Potential energy/×Ø�ö×Tö ̀ ×Nþ
c) Frictional energy/HbïS ̀ ×Nþ d) Electrical energy/é[ýVÇî×TöEõ ̀ ×Nþ

80. The structural unit of the nervous system is–
ØoöçÌ̂ ÇTöÜ�ö» GgçU×X AEõEõ c÷'_----
a) Cyton/$K÷ç+OôX b) Axon/AjX c) Dendrite/åQöXQÎöç+Oô d) Neuron/×X=»X

81. A medicine should not be taken after the expiry date as it can cause.
]îçV =Eõ×_ å^ç¾ç DbWý [ýî¾c÷ç» Eõ»ç =×$JôTö Xc÷Ì̂  Eõç»S +Ì̂ ç» Zõ_Tö ....................................... c÷'[ý Yçã»*
a) Bleeding/»NþlùÌ̂ b) Vomiting/[ý×] c) Poisoning/×[ýbEõ»S d) None of these/AOôçC Xc÷Ì̂

82. A reflex action is under the control of the
YÒTöÝY ×yÔÌ̂ ç Tö_» åEõçXäOôç» ¥ç»ç ×XÌ̂ ×Ü�öTö
a) Brain/]×Ø�ö�õ b) Spinal cord/ØoöçÌ̂ Ç»LÇ
c) Eye/$JôEÇõ d) Hands and legs/c÷çTö %ç»Ó \ö×»

8



F:\ANTSE_V P6.5   # 10

Contd.

83. The first man-made satellite is –
]çXÇãc÷ éTöÌ̂ ç» Eõ»ç YÒU] =YGÐc÷ c÷'_---
a) Apple/AY'_ b) Insat/+X$K÷çOô c) Insat II A /+X$K÷çOô-II A d) Sputnik I/&ÇOô×XEõ I

84. Cuscuta is a type of –
Ø�öSï_Töç A×[ýWý
a) Saprophyte/]ÊTöLÝ×¾ b) Total parasite/YÉSïY»LÝ×¾
c) Partial Parasite/%çe×`Eõ Y»LÝ¾Ý d) Total stem parasite/YÉSï Eõç�ø Y»LÝ¾Ý

85. Which of the following is not an agent of erosion
Tö_» åEõçXäOôç \Éö×] lù»S» AOôç Eõç»Eõ Xc÷Ì̂
a) Wind/[ýTöçc÷ b) Running water/é[ý UEõç  YçXÝ
c) Humans/]çXÇc÷ d) Bunds/[ýçµù

86. Mineral needed for growth of strong bones is
c÷çQÍö»» ×[ýEõç`» [ýçã[ý YÒãÌ̂ çLXÝÌ̂  F×XL YVçUï c÷'_---
a) Zinc/VØ�öç b) Iron/å_ç c) Calcium/åEõ_×$K÷Ì̂ ç] d) Potassium/YOôç×$K÷Ì̂ ç]

87. The colour of the leaves of a tree is green due to the presence of
G$K÷» YçTö» [ý»S åa=LÝÌ̂ ç c÷Ì̂  Tö_» åEõçXäOôç» =Y×Ø�ö×Tö» Eõç»ãS----
a) Stomata/Yy»µÐù b) Sunshine/aÉ̂ ïî» åYçc÷»
c) Carbohydrate/Eõç[ýïc÷ç+äQÎöOô d) Chlorophyll/Yyc÷×»d

88. The inert gas used for preparing brightly coloured advertising lights is
=8_ ×[ýpûçYX _ç+OôTö [ýî¾c÷ç» Eõ»ç ×X×��õÌ̂  åG$K÷ c÷'_--
a) Neon/×XÌ̂ X b) Argon/%çGïX c) Helium/×c÷×_Ì̂ ç] d) Krypton/×yÔ´OôX

89. A translucent object is
AOôç %Wýï Ø�ö¬K÷ [ýØ�Çö c÷'_---
a) Mica/]ç+Eõç b) Metal/WýçTÇö
c) Stone/×`_ d) Oiled paper/åTöã_TöÝÌ̂ ç EõçGL

90. The shadow of birds and aeroplanes flying at great heights is not formed because
%×Tö =¬JôTöçTö =»ç $Jô»ç+ %ç»Ó =»çLçc÷çL» $Kg÷ç-GPöX Xc÷Ì̂  Eõç»S---
a) Umbra is absent/YÒ¬K÷çÌ̂ ç Xç+ b) Penumbra is absent/=Y¬K÷çÌ̂ ç Xç+
c) Umbra is present/YÒ¬K÷çÌ̂ ç %çä$K÷ d) Penumbra is present/=Y¬K÷çÌ̂ ç %çä$K÷

91. Lunar eclipse takes place during
$Jô³VÐGÐc÷S c÷Ì̂ ---
a) Night only/åEõ¾_ »ç×Tö b) Day only/åEõ¾_ ×VXTö
c) Day and night only/×VX %ç»Ó »ç×Tö d) None of these/A+ã[ýç»» AOôçC Xc÷Ì̂

92. The intelligence of a person depends upon
ALX [ýî×Nþ» [ýÇ×�ù ×X\öÛ» Eõã»---
a) Number of wrinkles in the cerebrum/æ$K÷×»[ýÐç]Tö UEõç [ý×_ã»Fç» aeFîç
b) Size of the cerebrum/æ$K÷×»[ýÐç]» %çEÊõ×Tö
c) Cerebellum/æ$K÷×»ã[ý_ç]
d) Both (a) and (b) / (a) %ç»Ó (b)
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93. The perfect site for constructing a house is
AOôç H» ×X]ïçS» [ýçã[ý =Y Ç̂Nþ ]ç×Oô c÷'_---ý
a) Sandy soil/[ýç_ÝÌ̂ ç ]ç×Oô b) Clayey soil/å[ýçEõç ]ç×Oô
c) Rocky soil/×`_ç]ç×Oô d) None of these/AOôçC Xc÷Ì̂

94. A first kind lever is
YÒU] æ Ò̀SÝ» A×[ýWý a»_ ^Ü�ö c÷'_--
a) Hand pump/V]Eõ_ b) Nut cracker/$Jô»Töç
c) Bottle opener/[ýOô_» agçZõ» åFç_ç agLÇ×_ d) Fishing rod/[ý»bÝ» [ýç×»

95. The purest form of water can be obtained by
%çOôç+TöêEõ ×[ý£�ù YçXÝ åYç¾ç ̂ çÌ̂ ---ý
a) Filtration/Y×» Ò̀ç¾S b) Evaporation/[ýç¹YÝEõ»S c) Distillation/YçTöX d) Sedimentation/%¾ãlùYX

96. The most important organ in our body is
%ç]ç» ̀ »Ý»Tö %çOôç+TöêEõ m»Ó±¼öYÉSï %eG c÷'_----
a) Lungs/c÷çCgZõçCg b) Brain/]×Ø�ö�õ
c) Heart/c÷ÖV^Ü�ö d) None of these/A+ã[ýç»» AOôçC Xc÷Ì̂

97. What helps the nervous system by supplying extra blood to the brain ?
Tö_» åEõçXäOôçã¾ ]×Ø�ö�õEõ %×Tö×»Nþ åTöL» å^çGçX Wý×» ØoöçÌ̂ ÇTöÜ�öEõ ac÷çÌ̂  Eõã» ?
a) Good sleep/YÉSï æOôçY×X b) Exercise/[ýîçÌ̂ ç]
c) Eating/\ölùS d) None of these/AOôçC Xc÷Ì̂

98. Rocks are made of
×`_ã[ýç» YÒØ�ÇöTö c÷Ì̂ -----------------» ¥ç»ç
a) Minerals/F×XL YVçUï b) Chemicals/»çaçÌ̂ ×XEõ YVçUï
c) Proteins/YÒ×OôX d) None of these/AOôçC Xc÷Ì̂

99. If a person catches fire by kerosene which of the following should not be done ?
ALX [ýî×NþEõ åEõ»ç×$JôX» LÇ+ãÌ̂  YÇ×»ã_ Tö_» åEõçXäOôç Eõç] Eõ»ç =×$JôTö Xc÷Ì̂  ?
a) Throwing water/YçXÝ $K÷×OôÌ̂ ç+ ×VÌ̂ ç b) Throwing sands/[ýç×_ $K÷×OôÌ̂ ç+ ×VÌ̂ ç
c) Throwing clothes/EõçãYç» $K÷×OôÌ̂ ç+ ×VÌ̂ ç d) None of these/A+ã[ýç»» AOôçC Xc÷Ì̂

100. The process of scattering seeds or fruits away from the mother plant is
G$K÷» Y»ç [ýÝL [ýç Zõ_ Ùa$Jô×»Tö åc÷ç¾ç YÒ×yÔÌ̂ çEõ åEõç¾ç c÷Ì̂ --
a) Explosion/×[ýãØö�õç»S b) Dispersal/×[ý×lù�Eõ»S c) Diffusions/[ýîçYX d) Germination/%eEÇõ»S

**********
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